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TINGKATAN 2
2BAB

Praktis Sumatif
Bahagian A

	 1	 L	 = 
1
2 (2x + 4)(3x – 1)

			   = (x + 2)(3x – 1) 
			   = 3x2 + 6x – x – 2 
			   = 3x2 + 5x – 2 

Jawapan: A
	

	 2	 (a + 2)(a – 2) – (a + 8)	= a2 – 4 – a – 8 
			   = a2 – a – 12 
			   = (a – 4)(a + 3) 

Jawapan: C
	

	 3		  v2 – w2	= 30 
		  (v + w)(v – w)	= 30 
			   (v + w)(5)	= 30

			   v + w	= 
30
5  

				   = 6 
Jawapan:  D

	

	 4	 6 + x
x

 – 2	 = 
6 + x – 2x

x
 

			   = 
6 – x

x
 

Jawapan: C
	
	 5	

3
y

 – 
5 – y
y + 1

	 = 
3(y + 1) – y(5 – y)  

y(y + 1)
  
			   = 

3y + 3 – 5y + y2

y(y + 1)  

			   = 
y2 – 2y + 3

y(y + 1)  
  

Jawapan: B
   

	 6	  
b + 5
b – 5

 –  
3

5 – b
	= 

b + 5 + 3
b – 5

 

              	 = 
b + 8
b – 5

Jawapan: A

	 7	 Jarak	= (6x – 18)  × 
1
2  (x + 3)

         	 = 3(x – 3)(x + 3) 
         	 = 3x2 – 27 

Jawapan: D

	 8	 (9 – b2) × 
b

4b – 12
 = (3 + b)(3 – b) × b

4(b – 3)

			   = –(b – 3)(b + 3) × 
b

4(b – 3)
 

			   = 
	 b(b + 3)
–
	 4

			   = 
	 b2 + 3b
–
	 4

Jawapan: D

	 9	
2h – k

h2  ÷ 
4h2 –  k2

hk
	= 

2h – k
h2  × 

hk
4h2 – k2

 
		  = 

2h – k
h2  × 

hk
(2h + k)(2h – k)

   

		  = 
k

h(2h + k)
   

	  	 = 
k

2h2 + hk
 

Jawapan: A

	10	
(x + 2y)2

2x – 2y
 × 

4
(x + 2y)

 + 
x

x – y

		  = 4(x + 2y) 
2(x – y)

 + 
x

x – y

		  = 
2(x + 2y) + x

(x – y) 
		  = 2x + 4y + x

x – y		

		  = 
3x + 4y 

x – y
 

Jawapan: C

Bahagian B
	 1	 (a)	 (i)	 m(m − 3) = m2 − 3m 
			   (ii)	 x(x – 1)(x + 1)	 = x(x2 – 1)
					     = x3 – x 
		  (b)	 (i)	 x(x + y) – 2y(x + y) = (x – 2y)(x + y)
			   (ii)	 x2 – xy – 6y2	= (x2 + 2xy) + (–3xy – 6y2)
					     = x(x + 2y) – 3y(x + 2y)
					     = (x + 2y)(x – 3y)

	 2	 (a)	 1
2m

 – 1
3m

	= 3
6m

 – 2
6m

				    = 1
6m

		  (b)	 2
a

 + 3
b

	= 2b
ab

 + 3a
ab

				    = 2b + 3a
ab

		  (c)	
4

x – y
 + 

3
y – x

 = 
1

x – y

		  (d)	
a + b
2ab3  × 

a3b
3a + 3b

	 = 
(a + b)a3b

2ab3(3a + 3b)
 

		
		     		  = 

(a + b)a2b
2ab3(3a + 3b)

  

			 
				    = 

(a + b)a2

2ab2 × 3(a + b)
 

				    = 
a2

6ab2   

Bahagian C

	 1	 (a)	
4e + 12
e2  – 4

 ÷ 
e + 3
e + 2

 	 = 
4(e + 3)

(e – 2)(e + 2)
 × 

e + 2
e + 3

 
        
				    = 

4
e – 2

    

(b)	 5
2a

 – 3 – 4b
6a

	 = 
15 – (3 – 4b)

6a
 
		  = 

15 – 3 + 4b
6a

  

 
		  = 

12 + 4b
6a

 
		  = 

2(6 + 2b)
6a

		  = 
6 + 2b

3a

(c)	 30
5x

 – 
10

3x + 5
	 = 6

x
 – 10

3x + 5

	                        	 = 
6(3x + 5)  – 10x

x(3x + 5)
  
		  = 

18x + 30 – 10x
x(3x + 5)

  
		  = 

8x + 30 
x(3x + 5)
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